Gears and Gear Trains
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If the driver (pedal) gear of a bicycle has 80 teeth
and the driven (sprocket) gear has 20 teeth, what
is the gear ratio?

If the driver gear has 80 teeth and the driven gear
has 40 teeth, what is the gear ratio?

If the driver gear has 60 teeth and the driven gear has 20 teeth, what is the gear
ratio?

In the three questions above, has the gearing increased torque or increased
speed?

If you have gears in a gear train in a ratio of 1:3, 1:4, and 1:5, what is the overall
ratio?

Extension: If the input rpm (rotations per minute) is 10 500, what is the output
rom?

Explain why someone might want to use such a gear train.



